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QID : 1 - Which psychological crisis occurs during early adulthood, that is, from 18 to 40 years?

dIQie 621 JelF! Gﬁ“IIQ( Rl Q ¥Oo od a1 6Q) 6Q 606 Jela Q FINd@ acqyl 698G ?
Options:

1) Intimacy vs. Isolation

QAP @RIF IRIRQ

2) Identity vs. Role Confusion

00Q Q189 QIF R QAR ACRER 9L 6Q QRS
3) Generativity vs. Stagnation

geaIge gaie QAIF 2IeR 6RIRARE!

4) Industry vs. Inferiority

QARELIC @RI IPAIRYGI

Correct Answer: 1) Intimacy vs. Isolation
QAP QRIF IRN1Q

Candidate Answer: 1) Intimacy vs. Isolation
QAP QAIF IRIR1Q

QID:2-Successinthe___ stage of Erikson's theory of psychosocial development will lead to
the virtue of hope.

ER6dIeaa FIRde SRI6 09 2l 6QICIR 62 ATRE! K66l @47 @ 2IGIQ 2RI 2IPY PRI
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http://202.191.140.165/otetmay19/ccgsa_sep19/login.php?appid=12b748051c486160c4e32c1ca0be04e5
http://202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1ca0be04e5&q=Yzg4Njk3NGNhNThjOTMwM2E5MmNhMDUxZDBhODllZTl8MTkwMTAwNDAzMzF8MTcwODIwMTk=
http://202.191.140.165/otetmay19/ccgsa_sep19/challenge_list.php?appid=12b748051c486160c4e32c1ca0be04e5&q=Yzg4Njk3NGNhNThjOTMwM2E5MmNhMDUxZDBhODllZTl8MTkwMTAwNDAzMzF8MTcwODIwMTk=
http://202.191.140.165/otetmay19/ccgsa_sep19/challenge.php?appid=12b748051c486160c4e32c1ca0be04e5&q=Yzg4Njk3NGNhNThjOTMwM2E5MmNhMDUxZDBhODllZTl8MTkwMTAwNDAzMzF8MTcwODIwMTk=

Options:

1) first
gaiel

2) second
9018,

3) third
Q1%

4) fourth
0gd

Correct Answer: 1) first
geiet

Candidate Answer: 1) first
gaie

QID : 3 - Erik Erikson has proposed that personality develops in a predetermined order through
stages of psychosocial development, from infancy to adulthood.

e AR6dIe gIQ 60aa] 64 68l61@ OIQ 2I0a /R AIRIR® 629] AJIg Q1gQ a @nI6 I gas AR 9F
2QAI6Q G AIfI@e G AIRde gl FIRIFIER 6Q1R2IN

Options:

1) four
4

2) five
5

3) six

6

4) eight
8

Correct Answer: 4) eight
8

Candidate Answer: 4) eight
8

QID:4- are the basic building blocks of such cognitive models, and enable us to
form a mental representation of the world.

Joe 62087 69186 AgRI Q 6AIRe G0 QUIRIR , 19° Y2 2IFg QPR Q IQ AIRTR
JoRYQ 01Rel6Q QIRITY K6

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Options:

1) Replicas
qo906

2) Schemas
lalat3y (e

3) Egos
2L°RIQ

4) Personas
Q@ee

Correct Answer: 2) Schemas
alat3jlal

Candidate Answer: 4) Personas
QQeIe

QID : 5 - Jean Piaget viewed intellectual growth as a process of to the world.

00 Q2Iers 69IRe Faldy QIRIQ QR 986 e Q 9@9) Q64 6Q¢ielem

Options:

1) adaptation
QdedIee

2) assimilation
2ea8l

3) accommodation
aeIegie

4) challenge
QlemE

Correct Answer: 1) adaptation
QJedIne

Candidate Answer: 1) adaptation
QJedIee

QID : 6 - According to Piaget's Theory of Cognitive Development, ,is using an existing
schema to deal with a new object or situation.

J2IEREFA 6AlRe ARI6 67 2916 6208 IR 92l 08ge QI g ager 62e! ikl Q4QRIR
PALRLR! 9@ JoQ ARl Qs
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Options:

1) accommodation
agiegie

2) assimilation
2GeEl

3) adaptation
QdedIee

4) amelioration
Q96 AP

Correct Answer: 2) assimilation
gIdecs

Candidate Answer: 1) accommodation
aQIegIe

QID : 7 - What is Piaget's 4th stage of Cognitive Development known as?

Qeercwa 0gd AR 6AlRe Bal6l ____ Q6d A9 @6l
Options:

1) Sensorimotor stage

degeq €lld edIdie

2) Pre-operational stage
AJIRIRG! 2IQ¢ 6261 QIR 6aIAIR

3) Formal operational stage
AIdIRIRG FYQ® 21Qq 62R1Q 6QIAIR
4) Concrete operational stage
Q469 RIJIRIqN 62Q1Q ALY,

Correct Answer: 3) Formal operational stage
RIJIRIAGI YR Iad 62IQ 6QIIR

Candidate Answer: 3) Formal operational stage
RIJIPIRGI QYR 2Iad 629IQ 6QIdIR

QID : 8 - The genetic inheritance received by every individual at the time of conception is called:

FIIRgl 6Q AFY Q4R AAAYAIN GE 60 644 &R 616 gél gEe dIg @RI OIg QRIAN
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Options:

1) Maturity
a[slalalel

2) Heredity
Q°6lgefias!

3) Segregation
QRIRIRRE

4) Environment
aQeesl

Correct Answer: 2) Heredity
Q°CIR@FRo!

Candidate Answer: 3) Segregation
QeRQE

QID : 9 - According to Erikson, which stage can help build or undermine self-confidence?

ERARE @2l 2dIea 664! 6QITIR ZINRYIAg CI0R @AUIER @l AF FAIER ?
Options:

1) Stage 5 - Identity vs. Confusion

6QIAIR-8 AR, 9RIFA @

2) Stage 4 - Industry vs. Inferiority

641dIR-¥ Q@46 QRIE 1REIRYOI

3) Stage 3 - Initiative vs. Guilt

6d1dIR-9 JIQARSI QRIF 6QI

4) Stage 2 - Autonomy vs. Shame and Doubt
6dIQIR-9 AL Q@RIA mEHl B L6LR

Correct Answer: 2) Stage 4 - Industry vs. Inferiority
64ldIR-8 QY6 Q@RIC 1RERYRI

Candidate Answer: 4) Stage 2 - Autonomy vs. Shame and Doubt
6dIdIR-9 gAralde QRIF m@4l G d6RY

QID : 10 - According to Piaget is a stored form of the pattern of behavior which includes
looking at a menu, ordering food, eating it and paying the bill.

JaIeRea @2l 29416 020 Q@2QI I8 Q1QLIA 65R1A YR QU 6JGZER & 6719 1P 6QgQ,H1IeY
AGIRQL,EIQ SR 9Q° SR ARY 6091 AQEY |

RER-0NC)
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Options:

1) Stage
edidie

2) schema
lalat3y (]

3) cognition
6QIRQO!

4) intelligence
oQaas&el

Correct Answer: 2) schema
alat3jlal

Candidate Answer: 3) cognition
6RO

QID : 11 - According to the The National Curriculum Framework 2005, handicap is a

Q101 AI0YPE 6TAGIS 9008 AQAIER APRFI @
Options:

1) tool to spread diversity

QAReI 9aIfe @8R! Hfia e arie

2) good excuse to exclude unwanted students
2@ IQ ARy Small @@QGIQI IR 9 O QIR
3) curse to humanity

AIRFRGIYE Y@ 2R8I

4) social construct

delle QIR 6061 digQl @ Qd

Correct Answer: 4) social construct
el QI 6Q6l ARl e Qd

Candidate Answer: 1) tool to spread diversity
QEQOI 4AIRE @RI AHa e ARIQ

QID : 12 - Inclusiveness in education is concerned with embracing children with: 1. physical disability
2. economic disadvantages 3. urban background 4. learning disabilities

SNIQ 2QLRR08 QIR 2i6F 6RCdRIR Q SgIRG IR 6RAIAIN RgR: 1. SIRaRIEe 2A¢ 8¢ 2.21Igeq6d
2rgaq §ig 3.9ea Q ARl &g 4.8¢e AR 2861 el &g
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Options:

1) 1 and 4 only
60m R IQ° Y

2) 2,3 and 4 only
6RQM 9, 19Q° Y
3) 1,2 and 4 only
60Qm €,99Q° ¥
4) 1,3 and 4 only
QM €9, 4Q° ¥

Correct Answer: 3) 1,2 and 4 only
60Qm €,99e° ¥

Candidate Answer: 4) 1,3 and 4 only
60Qm .9, 4Q° ¥

QID:13- involves understanding how all the pieces of an entire concept fit together.

ang QAIRIR geg 69R 9@ gal dIQdl ( Concept ) HUR 6Q1 AN 12 QEQI6R 2liFlg _____ ARIAe 99
Options:

1) Meaningful learning
22qgl &l

2) Rote learning

6 Sl

3) Social learning
AR Sial

4) Imitative learning
2Qea8Na dal

Correct Answer: 1) Meaningful learning
2aqge &al

Candidate Answer: 3) Social learning
airiee &l

QID:14- is all about providing effective learning opportunities to all learners.

6268 arg SRIgNg JaIQEInT 8dl 4OIR @RQ! |
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Options:

1) Exclusion

9QgaR

2) Inclusion

REQRR

3) Social learning

AR Sl

4) Observational learning
AQURIRR Gl

Correct Answer: 2) Inclusion
QPR

Candidate Answer: 2) Inclusion
ROQER

QID : 15 - What was the name of the report of the Yashpal Committee submitted in 1993?

1993 6Q QISR 621RAQ ATAR KATA A6ATA QIF REl ?
Options:

1) Learning to Earn
6QIRGIR @RI AR &

2) Learning without Burden
6Ql @I &gl

3) Education to All

aage &l

4) A school for All

Age AR RUIRY,

Correct Answer: 2) Learning without Burden
6QI8 ARl &l

Candidate Answer: 3) Education to All
aage &l

QID : 16 - According to the , learners interpret the meaning of their experiences through a
lens of deeply held assumptions.

ALY, IRQRUER AR QIR APANR FIIFIER HRIET 6aIRE 2RROIR 28] @RI |
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Options:

1) attribution theory

2IgQIaq g6al

2) experiential learning

AQERIe &l

3) transformative learning theory
JRearei Egen delg

4) self-determination theory

aIg) - fela, delg

Correct Answer: 3) transformative learning theory
JAQeRRIQN SiNEN deIQ

Candidate Answer: 4) self-determination theory
a1e - Pelo, deig

QID : 17 - A teacher using a number of assistive and adaptive devices such as Braille equipments,
adapted science kits, hearing aids, communication aids, mobility aids is an example of

@661 SIAR ARIAR IQ° QPR AIRALIQ IR A6l Q1QLIQ ARR! 61dR 69R1 QR4 2IGIEYR FRIR Feq,
Q2R g, @¢ifeadr 9Q , 6FIGRE g 6268 QGQI2Qd! |

Options:

1) Affirmative action
aeqiae QI

2) Social learning
airice &l

3) Inclusive education
argdq dal

4) Discovery learning
RYQ &

Correct Answer: 3) Inclusive education
ReQ4Q &al

Candidate Answer: 3) Inclusive education
RegdQ aal

QID:18-1In students interact with the world by exploring and manipulating objects,
wrestling with questions and controversies, or performing experiments.

exled QlFIg Qlel @& 99 AIRGERS @8, 94| Ie° FQI0 A2 gOQR16I @6, @7l dIRE @8 6Q
QIgeI6R Q¢ AL 6QIGlEAIT @QF |
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Options:

1) expertise theory
Q66Iam dalg

2) Social learning

[ [[AK3 ]

3) discovery learning
didg e sisl

4) transformative learning
JAeareIa &l

Correct Answer: 3) discovery learning
RYQ &

Candidate Answer: 2) Social learning
AR Sl

QID:19- designates the process by which people interpret situations, events, objects, or
discourses, in the light of their previous knowledge and experience.

Q9 RIe 9e° AQRG! 2ARIAER J50) P8Y @REIN QIRIgIAI 6RIRAIEH AGE, acel, @, 6al6d
Q6QIOR Q82 |

Options:

1) Inclusive education
argdq dal

2) Discovery learning
RYQ &

3) Meaning making
22 B2R @A

4) Social learning
airice &l

Correct Answer: 3) Meaning making
22l 2R @Qa!

Candidate Answer: 1) Inclusive education
RegdQ aal

QID : 20 - Who developed the theory of multiple intelignences?

RRIR 6QIRROIR JBR1 @ BR8io @tlelem ?
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Options:

1) Daniel Goleman
QIPIR 66IMAMIQ

2) E.L. Thorndike
AR, 62ERIRR

3) Howard Gardner
621416 FIEAQ

4) Guy Woodruff
6N QQ Q<

Correct Answer: 3) Howard Gardner
621616 FIEEQ

Candidate Answer: 3) Howard Gardner
621610 CIFAQ

QID:21-1In learners take responsibility of their own learning by promoting self-
learning through discussion of ideas with their group members.

6Q, PR1Y AAIAIRE I FPIQ AIBMER! FIIFER Y E8Ig 60IQR6 @R SRITN 6acIpa
JRIQ QY F6x 6PRG |

Options:

1) collaborative learning
AREAIGHN Sl

2) problem-based learning
aqay- 2RIS

3) concept mapping
2ARUIRQEI 58l

4) project-based learning
daq - ARIGE diml

Correct Answer: 1) collaborative learning
agegIen sial

Candidate Answer: 2) problem-based learning
aaay- 2RING

QID:22- is a tool used by the teacher to continuously monitor student progress in
a non threatening, supportive environment by involving regular descriptive feedback, and by providing
a chance for the student to reflect on the performance, take advice and improve upon it.

626R 661N QURAE, QIIR RIRAINE JeDq ARI 6xIE1d arayl, AAde JAEREER AR
QU6 AQUIR FRAQIQ SR Q1L FRRIY, AIQI ALY 6208 Fga gRINe TQ QUi 6991 Ie° JRERea

PR

J0ORE 62Q1AIR /I9F 6416 606, ARIFE 6061 Ie° Y@l Ad6a QIF @AQ! |
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Options:

1) Summative assessment
A6CEQ dRRe

2) Formative assessment
AR ARRe

3) Dignostic assessment
QIREQIYR ARRR

4) Prognostic assessment
6J1691JR AR

Correct Answer: 2) Formative assessment
AR ARRe

Candidate Answer: 2) Formative assessment
AR ARRe

QID : 23 - A learning process where the teacher transmits facts and assumes the students as passive
receptors of knowledge is called:

611N &R 9P, 60GI0I6R SRR GalY JeIe @RelIR Ye° JGRIY 6 RIGFIER 62ArE R AIdQ A6AQR, 1RIg
@6 QRIAN :

Options:

1) process-centred approach
JRU-600® A8

2) subject-centred approach
AQERQY-6aLe A0

3) learner-centred approach

aRlel-6a0e A8

4) teacher-centred approach
G90-6a0n 480

Correct Answer: 4) teacher-centred approach
G30-6h0n 480

Candidate Answer: 3) learner-centred approach
daIeh-6a0a A8

QID : 24 - Who gave the concept of ‘conditions of learning'?

A8l §6'a 0q @9 6eRelsM ?
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Options:

1) Robert Gagne

6QUQE GlIGIR

2) Benjamin Bloom
6Q&IdR Q¢

3) David Krathwohl

QIR gleRlIen

4) Elizabeth Jane Simpson
IRRI6Q2 606 AMAR

Correct Answer: 1) Robert Gagne
601Q¢ GlIEIR

Candidate Answer: 2) Benjamin Bloom
6Q&17Q QA

QID:25- refers to whether an assessment instrument gives the same results each
time it is used in the same setting with the same type of subjects.

27l 6208, AR 6a6°6a AR Qgae J50aQ 2IRRR QURAE AFIR AREIF G & Q1@ |
Options:

1) Viability
MeRIJ4o!I

2) Reliability
Alalate]

3) Validity

[Sa[e)

4) Transferability
JRRARERG!

Correct Answer: 2) Reliability
alniata]

Candidate Answer: 3) Validity
690!

QID : 26 - Who proposed the Three Modes of Representation to explain the way in which information
or knowledge are stored and encoded in memory?

646! 661168 ORI Al RIE A°QlE 28 9Q° go6a IR6RIQ 621a8 0121 QYIS @Re! diel gRAAgIna G6RIT
661R1Q JgIe @\ 6QR2j6m ?
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2) Erik Erikson
0Q AR 4

3) Jerome Bruner
6R6RIR §6RIQ

4) Lev Vygotsky
6MQ QURECISY

Correct Answer: 3) Jerome Bruner
6R6Q1Q 96AIQ

Candidate Answer: 1) Jean Piaget
@ Galeeq

QID : 27 - In Erik Erikson's Stages of Psychosocial Development, is a basic virtue for
ages from 40 years to 65 years.

AR GgR & FERIAIFIRG FRIEIQ 6aIAIRER, 6268 40 @ 60 @ @ IR 661G\ 6(TRe
geeal |

Options:

1) purpose
Qe

2) care

Qe

3) love
6971

4) wisdom
(o

Correct Answer: 2) care
ag

Candidate Answer: 4) wisdom
LifiS

QID:28-1In approach, concrete situations come first followed by abstract concepts.

ARG6R, 2IeqIQ ARSI A2 HEe AREE gelsn 2led |
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Options:

1) subject-centred
lafsaian

2) teacher-centred
SNR-6aL6

3) discovery-learning
ey e -aal

4) learner-centred
ARITN-6G00

Correct Answer: 4) learner-centred
dQeh-6a0@

Candidate Answer: 4) learner-centred
dQeh-6a0@

QID:29- is a model of classification of thinking into multilevels in
increasing order of complexities.

6268 AEROIQ T 9F16Q B @RRIg YRR JOQ AHIRALR Y@ FI6eR |

Options:

1) Hess' Cognitive Rigor Matrix

624 *G6Q A6EIQ AIGY

2) Bloom's taxonomy

Qf & cleglerlen

:3:) Webb's depth of knowledge

649Q & RIPQ GG

4) Robert Gagne's Conditions of Learning
6Q1Q6 GlIERE SAIQ A6

Correct Answer: 2) Bloom’s taxonomy
QF & GleqleRIeI

Candidate Answer: 2) Bloom’s taxonomy
Qe & G16QI6RIAT

QID : 30 - Which one of these can help learners foresee what is expected from them as a result of
teaching-learning process and can negotiate with the teacher regarding it?

Yo

FRIQIR - HgQl JRAQ AREIF gRa A9 FUQ 606lE SRIgNe JRlgale fRQIER AIRITY KRS IQ° 92 AYN6R
fRew A2 2Qee @A ?
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Options:

1) Formative assessment
AR AR

2) Assessment strategies
LR 6nlEngo

3) Learning objective

S8l asasl

4) Course curriculum
6RId @I

Correct Answer: 3) Learning objective
i1 Qsadl

Candidate Answer: 1) Formative assessment
AR ARRe

QID : 31 - Ga4igl 660 AIPGRR 26y FAIER 9e° oall QIQQIQ FllER APy QEdIER)
Options:

1) Qg-QIVIGIE QQ, AR

2) QGG QJ, Y66 QA

3) @g-QIICIe Qd, F6Q6! QA

4) QIAIEIE QQ, ARSI

Correct Answer: 2) QIAI6I6 Qd, 360411 QU4

Candidate Answer: 2) QIIGIE Qd, 962611 QA

QID : 32 - Qecllg FUQ 606 @G, Eige O FRQ ATRSIA QLS rIIE 6RRAN?
Options:

1) @2QI 0O

2) @9l @RG!

3) 6mGQl QB!

4) g&Ql QG

Correct Answer: 2) dQQ| QR0

Candidate Answer: 3) 6REQI Q]G

QID : 33 - g9& 6lI0R dRIg AVER A6y FNQ 6R4 Q4G OK?
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Options:

1) "0@QI 2AYER @RI AR R6d Y@ Q@ F0RRIAT Jadl, 606 AATER 2i6F POR JQa 2IRas @Q”
2) "Gelnel 2RQIdY Q6d 9@ Jo& F0RRIR gRd, 606 AATER 2i6F QO J9R IRas @Q”

3) "8igQl ARQILY Q6d IR JQ& F0RIRT Jad, 606 AFLER 2I6F QOR dQ@ 2IRRs 8 "

4) "QIAI 2RRITY Q6Q Y@ J9& SI0RRINT dRLl, 6L AATER 2I6F Q60 J9a 2Ieas Q"

Correct Answer: 4) "8l 270104 Q60 I8 Q& C0RRIT gF, 604 AFAER 2I6F QOR 4G 2Ieas @

Candidate Answer: 2) "@¢liQQl 2RI Q60 U@ JQ& F0RIA1 Jad, 606 AFER 2i6F QOR Q@ 2ILQE!
@Q"

QID: 34 - ( ) QIFIR 6MAR YROQER AYAIE AAER 665N GEREQ 26dIQ TQ
6QIRAIREIN|

Options:

1) Jeaieasq, 9egQ, QY

2) 606@66l61Q, J0@R, J63I6a8IQ
3) 6J6@64l6IR, JIREY, 90gR

4) Jeanleqdr, AIQEY, 40gR

Correct Answer: 3) 6J6R6661Q, QIREQ, 4R

Candidate Answer: 2) 6J6@6£61, 40QR, J6AUEQSIQ

QID : 35 - giFIQ ALIRQI Aip! FEMYE FUQ 6a6 6RlEIR AIQLIQ PRI QIS?
Options:

1) @

2) GQecIgQa

3) GRECER

4) 206RFANRA

Correct Answer: 4) 20GRG2ARNRE

Candidate Answer: 1) @@°

QID:36-
6QI@eIN|

Q@B (6108 U@ 0U-RIAR I6JIQ Z6S, 6AGEER 2 ANIREIQ AglE] AR 2I0q 616
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Candidate Answer: 3) @6¢162QdQ

QID : 37 - FIRLQ RIS QF6d 2A6ag6ris @612

Options:

1) SQRIQ 66 IQMIQT A ZRIAER aoyiene QOG‘TQQ il a

2) QRAIOAIRE gl Qe R°ARANA 6QQRAQA 2RI FRYICNE QQGTQQ il e

3) 8gQl 086! RAIR APARG RINER FRYITNE JOCea FJRiEe
4) 2AIR 9IeR1 diRl A9 Fa4Iel 60RZQI AFIR JRIQ AAAGEY IR FINE QAR A86 @RAI @R FJRIFE KA

Correct Answer: 4) Qi@ gglom1 dil 99 §a4I2N 60RAQI AFIR JRIQ AAAGRY IR FINE QAR A86 @RA
@0 RIEe @QQl

Candidate Answer: 4) Q7R Jgiom1 ARl 49 8Q4IE1 62R2je! AFIR JRIR QRAYEY I FIRe QA 980
PRI A1 RIFE @QQ!

QID : 38 - P6C]IQ FIQ 6R6E FIRYY ARIFE PR A6AGECE Q I AGRRl 2662
Options:

1) QI ARG 24Ye Q1AgY @Rl

2) GRRAIER AYIENAIRG UIRSIGR KR 620l ARR6E 6am "dAl din SAIQIR” (teaching to the test) @RIF
3) GgQIQ 2QQI6 AT 621R2IN

4) QU6QIQ QY IR

Correct Answer: 4) QJ6QIQ Qg F@R

Candidate Answer: 2) SS&cl6R RYINAING QIR HIQ 6091 ARREE 60eR "N AR HVIRIR”
(teaching to the test) @2

QID:39-____ ¢Rgo @QQ, S/IQIna R Q@ 266

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Options:

1) QIQQ86Q QGO

2) QUeRI 61§

3) 2uaR

4) 4eEn6a Qb

Correct Answer: 2) QQQI 6§

Candidate Answer: 3) 2@

QID : 40 - FRYIFEER A6 FRIQ 6RLE, T1EIQ Q g8 AEREH?
Options:

1) RIS 2NIFE! AMR6R ARG FEIRS]

2) YAUINFIRE QT 29ARIe @R 6aFIRE J6 g aRa!

3) 6QFIREA JA-RIAe ARy Fe8o @Al

4) SNINAIRG 6908l 604

Correct Answer: 2) QQUZICIea QF 29910 @8 6a7IRe g6 QERUIR @RS

Candidate Answer: 1) RIS elFel AfN6R SRUIENFING FEIRQ

QID : 41 - OR Qa4 6MEIY; AIR AISER Q62 |
Options:

1) AR QI8 QA6Q Q6R
2) Flig JI& Qeaq Q6L
3) Flig dIfieq Q62

4) clg A8 QIQl Q62

Correct Answer: 3) ¢l QI56Q Q6@

Candidate Answer: 4) ¢l QI8 QoI Q6@

QID : 42 - R6(]ig QIRY AIe AEKL I9° B6NA AR 6REII IaR 16° (] 609IR6R FTam gEliere] 6051 AIRSR |
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Options:

&

1) 390 g% 1e° ¢ FeoR gel6rie, 6a¢elg AIRgR, F6A0 A9- 665IR6A

2) 390 9OR 9e° ¢ 696jQIg AIRYR, F6UT, AL-607IRER TEOR GElI6rEl

3) 3EQ- gAR 96" ¢f, F6NA -6091R6R FEOR gl6rE 628l AR QIR

4) 380 gAR 9° ] TEOR 626RIQ AIRYR, F6UD, AR-609IR6R gg6Ae)|

Correct Answer: 3) @990 gaR \1e° ¢f, 3620, 09-609IR6Q FEOM gEll6rE 62¢/@l AIR AIRR |

Candidate Answer: 3) GE4- AR Ie° ¢f, F6A0 AR-609IA6R FEIR gE6rE, 62619l Ainl IR

QID : 43 - Hgleq Q2ARYRI AIRIQ IRIQ 6REIG | 92 gF dial Q671 @'6 6IRRI AQR ?
Options:

1) @GR QY

2) Adam QleY

3) dgRleR Qe
4) 3999 Qa4

Correct Answer: 3) J¢QIO® Q@Y

Candidate Answer: 3) J§QIo@ Q@Y

QID : 44 - Hglea QRIR RAIAIRGAI AIRY QR AQIR FAIKIREAI F6g FIQ OF AIRY 0AR Fag| 6d E1G6R FIES
604]; 69 R1I9Q 62QIg GI6S |

Options:

1) 64 GI1E6Q QI6Q IR 64 VEE @1gQ 6Ll Qlew |

2) 69 11PE6Q RIEE RIQE @66 @1gQ 62U olew |

3) 64 G11P6Q RI6E \‘I?{Olﬁ 641 64 @661 L1IgQ bR Q6L |
4) 6Q GNE6Q RI6E 2RYell 64 K66l Qg 6LQly oleg

Correct Answer: 2) 6d 61660 Q160 QIQE @661 GUIgR 6291 G168 |

Candidate Answer: 2) 64 61106Q Q166 @IQE @66 XHIQR 62UQ Ql6g |

QID : 45 - QIR BRI AUVIQ AR 6QIM QRIAN ?
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Options:

1) 66lId1RIel FIRIP

2) 9609 C19I9

3) Q1R 6712R 6ARIAE

4) QRIRIS QUL

Correct Answer: 3) T@1Q 67190 642146

Candidate Answer: 3) IR1Q 6¢lI2R 6ARIAG

QID : 46 - 606l @ AIRYA ARIRAYIRG, SIFFRIR 671620 FRIRRIRL, RIF6R FIFE 6aml ?

Options:

1) 1949
2) 1944
3) 1947
4) 1950

Correct Answer: 1) 1949

Candidate Answer: 4) 1950

QID : 47 - 19556Q 66lIA1R12 FRIFE GRS JAYIAR QIF @61 ?
Options:

1) 99 QA8

2) RIQ1A10 ggIQ

3) AIQGY IRI6RAT agIR
4) g. 8. 4 QI 8RR YREER 6mall iR 66T

Correct Answer: 3) Q@64 IRI6RA1 IR

Candidate Answer: 3) QI@64 QIR JQYIQ

QID : 48 - 626! 92IFl ARG, QAR difgeliRe QIR QAR QI¥1E 661161 QU6 ARIRS gl ?
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Options:

1) 6001

2) 22 €161 210 e

3) @l R

4) 60666 6¢164R

Correct Answer: 2) 22 €161 20 gé]

Candidate Answer: 2) 2 €161 2O gé]

QID : 49 - F6gllg FRIQ 66IAIRIE ARIPE 604 QURYIY JRLEE FIFER JALEE 1eR Je AN ?
Options:

1) QR J2Q IQ° QLR

2) CIG FIRIR 9Q° 20RR

3) QR LA e° AIF ALIR

4) 200Q 9Q° daw!

Correct Answer: 3) QR J2Q \IQ° AT AGIR

Candidate Answer: 2) ¢€lIE (g 9Q° 20@R

QID : 50 - 4609 FIRIPE RIREEIRER @8l QYIS 621R8 ?

Options:

1) a1 FRQQ Qg T°RIARQ ORI @10q FRIY KEQIRIEF AR JeYIeER |

2) BRI AERALR APYER 2R, 6AEFERER ARSI SIPIN1ER, BHSI AR IPIIQIERR, Y6 QAT A2 JR6R
AR 62IReJeM |

3) @ AL, 6606R6R 98 T A0RQ To6a A, 2Qe8 Y@l ARITR 1e° BRIYR A°gQITss FQIRR 6aml |

4) goeQ QIRIQ 61

Correct Answer: 1) Jo1 (RQQ Q@ T°RIARQ Omel 9109 FLIJQ KERIE 3R JOYIQaR |

Candidate Answer: 1) Q170 QR 8°219eq FRe 10g ALIdY Fegtls FR JeUIRRR |
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QID : 51 - g¢ B¢ IQ4I°61 2RIAG | FRMIEITYE ARY IQ° B 96geaa aaa bag |

616 od ¢ 9@ 6qI6a JP6 6RIREM, 67160 PIgRSiRIEa 62 GHTE 6291 62l 6A0IER SRR HagIa 67161
e R2QIQ 61160 ARINE BIF6R Qslisinl | 671l S OIQ RS QR K66 6aIGN LRI, QIR Ne° PIgASIRIQ
Q460 2J6m | JIOSERINRER 64 QY BHT A2 QRT gl AIRgtR | Qg 19F QIR @dA K68l AIRe FYFe QPR
6QGQIq 2gm, 6RRIQN Bl g2, IR0 86l 6AIRIe d9emI PIgAEr G6 B9 QIR AR A6a 64
6606967 2IEM 91g PEIR AIRAE dinl AQER6R 66T 28l AGER | F6R PIPREIRIQ 28l 6AISISER Pl
621 Q° 2IFIQ 1@ Q47 QIR IR 661I5NT 2g) AIREM | 64 921G 26Re AFY AIg 26PR6M, PR 2I06x A
6QCIS REM IQ° IRIJER QEEREM | 6 6ARIPY QAUFEM CIF 260 AIRRQ AIREIRC! FED, 2R |

FIRY°E160 @190 621Reje! ‘ARl §o'a 21 @'81?
Options:

1) a9® QA

2) 264g QQQ &g
3) QQ& Q4QQ

4) QAR Qg

Correct Answer: 4) Q14 24|

Candidate Answer: 2) 264g @8 2egl

QID : 52 - g¢] A¢] 1416l ARIBE | BIRIEITY AR I9° Y] IggPna e ag|

616 od ¢ Y@ 6q16a JP6 6RIRSM, 6760 PIgRSiRIEa OF FHLE 6291 62l 6A0IER 120 SagIa 6716
dIe R2JQIQ 6¢1I60 ARIQE GIF6ER QST 671l S OIQ 2RE QR K66l 6AUCI AARIL, ARYIER IQ° PIAdIRIR
lIQ46Q ZJ6m | JIOSERRRER 64 2RY BHT A2 QRE g AIRgtR | Qg 19T IR @da K68l AIRe FYFe QPR
6QGQIq 2Igem, LRI SIF g2, IR0 6l 6AIRIe d9emi PIgaer G6 B9 QIR AR A6a 64
6606967 M 91g PEIR ARAT Il AQER6R 66IGN 26l AGER | F6R PIPREIIRIQ 28l 6AISISER P24
(2RI 9Q° 2IFQ Y@ @47 RER ClIQ 66T g AIREM| 6Q Q1Y 26R@ AA, YR 26RR6R, e QIR Al
6QI6 @6 IQ° IRIT6R QEEIEM | 6 6RRIPY QTR GIF 26ARI AIRAQ 2IQEIRS! eI 2RISR |

6RSIP REIR FIER GIgA SIRIER FaT6 c2R2EM?

Options:

1) 62 QIQAGIRI V1QRA QAR 6RQIG FIFJ6m

2) 69 Q186 299 2R

3) 64 9@ AIFIRS QEERIEIQ AR 6AUCAIRE A2 QRISIA @AQIQ OIPEEM
4) 60 9 QIgaT AIF SIgY6m

Correct Answer: 2) 64 Q1961 294 &l6m

Candidate Answer: 2) 6a Q1961 2lgg 2j6m
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QID : 53 - g¢ B¢ GIQ4I°61 2IRIAG | IRMIEITY ARY IQ° B 96Yeaa aaa bag |

616 od ¢ 9@ 6qI6a JP6 6RIREM, 67160 PIgRSiRIEa 62 GHTE 6291 62l 6A0IER SRR HagIa 67161
e R2QIQ 61160 ARINE BIF6R Qslisinl | 671l S OIQ RS QR K66 6aIGN LRI, QIR Ne° PIgASIRIQ
Q460 2J6m | JIOSERINRER 64 QY BHT A2 QRT gl AIRgtR | Qg 19F QIR @dA K68l AIRe FYFe QPR
6QGQIq 2gm, 6RRIQN Bl g2, IR0 86l 6AIRIe d9emI PIgAEr G6 B9 QIR AR A6a 64
6606967 2IEM 91g PEIR AIRAE dinl AQER6R 66T 28l AGER | F6R PIPREIRIQ 28l 6AISISER Pl
621 Q° 2IFIQ 1@ Q47 QIR IR 661I5NT 2g) AIREM | 64 921G 26Re AFY AIg 26PR6M, PR 2I06x A
6QCIS REM IQ° IRIJER QEEREM | 6 6ARIPY QAUFEM CIF 260 AIRRQ AIREIRC! FED, 2R |

N PAFeged QIQAdifea MIRTR @86 6Qdl fRRIg 26 ?
Options:

1) Q19 @

2) @661 6216 dml
3) Q661 Q8 Qg
4) 6RGR Q8@

Correct Answer: 2) ®66l 6216 dml

Candidate Answer: 2) @66l 6216 dml

QID : 54 - g¢| A¢] Q461 ARIBE | BIRETY AR I9° Y] IEYPPa e @ag|

616 od ¢ Y@ 6q16a JP6 6RIRSM, 6760 PIgRSiRIEa OF FHLE 6291 62l 6A0IER 120 SagIa 6716
dIe R2JQIQ 6¢1I60 ARIQE GIF6ER QST 671l S OIQ 2RE QR K66l 6AUCI AARIL, ARYIER IQ° PIAdIRIR
lIQ46Q ZJ6m | JIOSERRRER 64 2RY BHT A2 QRE g AIRgtR | Qg 19T IR @da K68l AIRe FYFe QPR
6QGQIq 2Igem, LRI SIF g2, IR0 6l 6AIRIe d9emi PIgaer G6 B9 QIR AR A6a 64
6606967 M 91g PEIR ARAT Il AQER6R 66IGN 26l AGER | F6R PIPREIIRIQ 28l 6AISISER P24
(2RI 9Q° 2IFQ Y@ @47 RER ClIQ 66T g AIREM| 6Q Q1Y 26R@ AA, YR 26RR6R, e QIR Al
6QI6 @6 IQ° IRIT6R QEEIEM | 6 6RRIPY QTR GIF 26ARI AIRAQ 2IQEIRS! eI 2RISR |

e 609l QAR TRIE 0AeRI ARIQ 28 IRLER ARR AR IPER NS 6R6 FREA A1QLIR
RAUARAIRS ?

Options:
1) 2IQ&gI
2) QU1
3) ¢l

4) 2199

Correct Answer: 4) 2i¢q

Candidate Answer: 2) Q10
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QID : 55 - g¢ B¢ 6IQ4I°61 2IRIAG | SRMIEITY ARY Ie° B 9Egeaa aaa bag |

616 od ¢ 9@ 6qI6a JP6 6RIREM, 67160 PIgRSiRIEa 62 GHTE 6291 62l 6A0IER SRR HagIa 67161
e R2QIQ 61160 ARINE BIF6R Qslisinl | 671l S OIQ RS QR K66 6aIGN LRI, QIR Ne° PIgASIRIQ
Q460 2J6m | JIOSERINRER 64 QY BHT A2 QRT gl AIRgtR | Qg 19F QIR @dA K68l AIRe FYFe QPR
6QGQIq 2gm, 6RRIQN Bl g2, IR0 86l 6AIRIe d9emI PIgAEr G6 B9 QIR AR A6a 64
6606967 2IEM 91g PEIR AIRAE dinl AQER6R 66T 28l AGER | F6R PIPREIRIQ 28l 6AISISER Pl
621 Q° 2IFIQ 1@ Q47 QIR IR 661I5NT 2g) AIREM | 64 921G 26Re AFY AIg 26PR6M, PR 2I06x A
6QCIS REM IQ° IRIJER QEEREM | 6 6ARIPY QAUFEM CIF 260 AIRRQ AIREIRC! FED, 2R |

QJ6QQ GRS RIQI AUER 6RGE ?
Options:

1) Q45 9Q 692 QI6Q

2) QIRAHIRIQ 2AARYE! QUER

3) @19Q QIAQY QU6

4) ARRQ Qe §6 adea

Correct Answer: 1) @4gQ JQ 692 QJ6Q

Candidate Answer: 4) QIR@Q QA9 §6 QU6

QID : 56 - (6Q RIR FAIRSYRI KFFITY ALY \1e° BF] 4ggena aaa daig |

P6eRGN ORQ IR ¢ 64 019 694E 64 @ RIEINI 6AIRGN AR BIf TR AR KEl O] 6RI6RR GIR |

Ol J6Q 60 QIRQ TR ZRIER el AIAQ FEER FEER AR AUAG 606 SIMCINI AXS 6Q19] Q1Y 60IY,
PRRR 2Ig6a 64 6Qgm, I2! AQIER @YY IRl - 6dgHR QAN FIR IR Bgejem, ¢ UM, 62 61 6QEIFN 18]
emamI | -

AIcIag g 0QEM @RLRI AR g 596! ARl Al JRIIBAIER,ANIER §RQ QD6R, 680 1ae A9QeR
0 @Q0160 @6l QEIIRG ?

Options:

1) QRGN 6lIQY 661RQI AAAER @E)l FEIN A2 QIQ ARAL @Rl 696/ @ITIR 681

2) @@ IQ° PEQRRAGN FIIER 47 64

3) 66116\ 06 ARIQ 6QIQ SRR
4) 06QRGEN 641 IRRIR QAIL, §igE

Correct Answer: 1) JS16N §IQY 661109 AAYER @F) FEIE AL QI FRAY, ORI 696R RITIQ 65@1I

Candidate Answer: 3) 661G\ 96QR ARIQ 6QIQ GlIQE
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QID : 57 - HgJ6Q gRIR RAULIRYR! AGITE ARQ IQ° HF 4ggeaq aaq dag |

P6RRGN 0ng 2IARI ¢ 64 Gl 694R 6a @ RGN 6AIREN AR GIf TIR ARl FEI 6Ig 6016QR SR |

o' J6Q 69 QIRQ T RRIER 2ol AIAQ FEER FEER AR AUAG 606 SINCIRI AR 69199 QY| 6QQIY,
PERR 2IG6a 64 6QgM, AIR! AQIER @YY IRl - 6dgHR QAN FIR IR Bgejem, ¢ UM, 62 61 6QEIAN 18
6mamI| -

AIcag g OQEM @RLRI AR g 096! ARl B¢l JRIIGIER,ANIER §RQ QD6m, 6T 1ae A9QeR
@ 990! 96 Qg RIFE RUNES QRIJINE?

Options:

1) Q108 ARIVERIQ QY AUEQ ARRER 26 62IRAIAR |

2) RIQ8 P6RRAIER QI AU6Q 6RRAIRER |

3) @IQ8 QIR 2AAQAE 2GR |
4) Q108 069R UIYQ PR AIRARL |

Correct Answer: 4) QIQ4 96R QIAQ FIRQ ARAIAL |

Candidate Answer: 4) QIQé 96QR QIdQ FIRQ ARAIRR |

QID : 58 - f¢6Q gRIR FAIIRLRI *FFITY AQ \1e° BF] 4ggoaa aaa daig |

06eR6N OnQ AR ¢ 64 019 604E 64 @ RGN ARG AR B TR AR VYl OIf 6RI6RR G|

O I6Q 64 AR AR YRUIER 2ol AIIQ FEPR FEER FIR QY 606 FINEIRI ARIQ 6QI19g QI 6991g,
PERR 2GR 64 6RgmI, AR A9 Q4 YR - 6AgHR QARG FIR AR Ggem, ¢ AR, 69 61 6QEIFN g8
eemaml | -

AIcIag g 5Qeml @RLQ! AR g 596! Al Al JRIIEIER, IR fRQ Q06R, 6T A1Qe A9QeR
@ IF6ER Q1Q2IR fAILIRGR! §Q, ‘69 QOIS AIR AR Ggoem 6208 1@

Options:

1) 2Q0IQ

2) Qae

3) 2gQIa
4) QQel

Correct Answer: 4) QQqll

Candidate Answer: 4) Qg
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QID : 59 - HFJ6Q gRIR AAULIRYR! AGITY ARQ IQ° HF 4ggeaa aaq dag |

P6RRGN 0ng 2IARI ¢ 64 Gl 694R 6a @ RGN 6AIREN AR GIf TIR ARl FEI 6Ig 6016QR SR |

o' J6Q 60 QIRQ TR GARIER 2Jel AIAQ FEER FEER AR AUAG 606l SN AXS 6Q19] QY 60QIY,
PERR 2GR 64 6RgmI, AR AQUIER Qg I - 6AGPR QUG AR AR Gg2J6m, ¢ AR, 64 61 6Q6IFN g8
ecmaml | -

AIcag g OQEM @RLRI AR g 096! ARl B¢l JRIIGIER,ANIER §RQ QD6m, 6T 1ae A9QeR

@ UIG6Q QIR AALIRYR! §Q, 64 OI'R 6QEIF (6 @RI’ 9@
Options:

1) 2Q0IQ

2) Qae

3) elggia
4) Qe

Correct Answer: 2) Qe

Candidate Answer: 1) 2Q0IQ

QID : 60 - ¢6Q Rl FAIAIRLRI *FFITY ARQ \1e° BF] JgPPaa aaa daig |

06eR6N OnQ AR ¢ 64 019 604E 64 @ RGN ARG AR B TR AR VYl OIf 6RI6RR G|

O I6Q 64 AR AR YRUIER 2ol AIIQ FEPR FEER FIR QY 606 FINEIRI ARIQ 6QI19g QI 6991g,
PERR 2GR 64 6RgmI, AR A9 Q4 YR - 6AgHR QARG FIR AR Ggem, ¢ AR, 69 61 6QEIFN g8
eemaml | -

AIcIag g 5Qeml @RLQ! AR g 596! Al Al JRIIEIER, IR fRQ Q06R, 6T A1Qe A9QeR

6618 AIF6R “P10R6Q JRIRG” 619Q 28] @812
Options:

1) 6618 AIF6Q @ AR 6dRdIg A1AQ ALl 2 PRRI RRF |
2) 0666 A6 51 AARI A1 KIS RIRQ AIY QU6 @I |
3) ARIFOIER IR PIT, 606 AV FTRIR AIQGH

4) @30 AQAIY AN ALQ AIER AID |
Correct Answer: 1) 6618 dIg6Q @@ QPR 6d0HIQ F10Q LRI A2 QRAI FRLF |

Candidate Answer: 1) 6618 2IP6Q @8 QPIQ 6dlRdig F10Q LRI @ @RAI FARY |

QID : 61 - The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'. He work/ for the government on
a /top secret project.
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Options:
1) He work
2) for the government on a

3) top secret project
4) None of the others.

Correct Answer: 1) He work

Candidate Answer: 1) He work

QID : 62 - Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. (How long have it been) since you last ate?.

Options:
1) How long it has been
2) How long it's been

3) How long is it been
4) How long has it been

Correct Answer: 4) How long has it been

Candidate Answer: 4) How long has it been

QID : 63 - Choose the right active sentence for this passive sentence: Have you been given the
information?

Options:
1) Has the information given to you?
2) Have the information been given to you?

3) Has the information been given to you?
4) You have been given the information?

Correct Answer: 3) Has the information been given to you?

Candidate Answer: 3) Has the information been given to you?

QID : 64 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

He wonders the stars would align one last time.
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Options:
1) If

2) Unless
3) ever
4) will

Correct Answer: 1) If

Candidate Answer: 4) will

QID : 65 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully. | not enabling this behaviour.

Options:
1) am
2) will

3) can
4) have

Correct Answer: 1) am

Candidate Answer: 2) will

QID : 66 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Stroll
Options:

1) Cease
2) Saunter
3) Halt

4) Sprint

Correct Answer: 2) Saunter

Candidate Answer: 2) Saunter

QID : 67 - Select the word that is opposite in meaning (ANTONYM) to the word given below.

Effort
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Options:
1) Onerous
2) Tenacious

3) Ease
4) Arduous

Correct Answer: 3) Ease

Candidate Answer: 3) Ease

QID : 68 - Select the word that is spelled correctly.
Options:

1) Prescription

2) Priscription

3) Priscripsion

4) Prescreption

Correct Answer: 1) Prescription

Candidate Answer: 1) Prescription

QID : 69 - Select the most appropriate 'one word ' for the expressions given below. A narrow
horizontal surface, coming out of a wall.

Options:
1) Pillar
2) Ledge
3) Column
4) Brick

Correct Answer: 2) Ledge

Candidate Answer: 1) Pillar

QID : 70 - Select the most appropriate meaning of the given idiom with a similar Idiom. A shot in the
dark.
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Options:
1) Randomly doing something, the outcome of which is unknown.
2) Shooting in the night

3) A blind man's cane
4) Looking at the stars.

Correct Answer: 1) Randomly doing something, the outcome of which is unknown.

Candidate Answer: 1) Randomly doing something, the outcome of which is unknown.

QID : 71 - According to Wyatt and Thompson, how many specific aims are there for teaching English?
Options:

15

2)9

3)4

47

Correct Answer: 3) 4

Candidate Answer: 3) 4

QID : 72 - In India, English is mostly practiced as a
Options:

1) Third Language

2) Second Language

3) First Language

4) New Language

Correct Answer: 2) Second Language

Candidate Answer: 2) Second Language

QID : 73 - Who defined education goals as “the desired goal or outcome at which instruction is
aimed”?
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Options:

1) Harry Harlow

2) Herbert A. Simon
3) Dr. S.R. Bloom

4) Gordon Allport

Correct Answer: 3) Dr. S.R. Bloom

Candidate Answer: 3) Dr. S.R. Bloom

QID : 74 - Which one the following is not a feature of real goals?
Options:

1) It should be achievable

2) It should be for the development of the students
3) It should be based on psychological principles
4) It should be fast

Correct Answer: 4) It should be fast

Candidate Answer: 4) It should be fast

QID : 75 - Semantics in language is related with
Options:

1) Understanding

2) Writing

3) Reading

4) Listening

Correct Answer: 1) Understanding

Candidate Answer: 3) Reading

QID : 76 - Phonetics in language deals with
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Options:

1) Study of sign process

2) Pronunciation, spellings and sounds
3) Structural rules of sentence making
4) History of words

Correct Answer: 2) Pronunciation, spellings and sounds

Candidate Answer: 2) Pronunciation, spellings and sounds

QID : 77 - Which one of the following does not come under the ability to write English?
Options:

1) Using correct vocabulary in the appropriate place
2) Spelling words correctly

3) Pronouncing with right intonation and stress

4) Building sentences without grammatical errors

Correct Answer: 3) Pronouncing with right intonation and stress

Candidate Answer: 3) Pronouncing with right intonation and stress

QID : 78 - What is the age limit of a preschooler?
Options:

1) 1 year

2) 6-11 years

3) 6 months

4) 4-6 years

Correct Answer: 4) 4-6 years

Candidate Answer: 4) 4-6 years

QID : 79 - Which one of these influences both Personality and Development in an individual?
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Options:
1) Heredity
2) Environment

3) Society
4) Self-confidence

Correct Answer: 1) Heredity

Candidate Answer: 2) Environment

QID : 80 - The assessment which usually takes place at the end of an academic year or at the end of
aterm is known as

Options:

1) Portfolio Assessment
2) Formative Assessment
3) Summative Assessment
4) Quality Assessment

Correct Answer: 3) Summative Assessment

Candidate Answer: 2) Formative Assessment
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QID : 81 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

Which of these did not serve as a venue for the Republic Day Parade between 1950-19547?
Options:

1) Ramlila ground

2) Irwin Stadium

3) Kanteerava Stadium

4) Red Fort

Correct Answer: 3) Kanteerava Stadium

Candidate Answer: 2) Irwin Stadium
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QID : 82 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

Who unfurls the National Flag during the Republic Day Parade?
Options:

1) President

2) Prime Minister

3) Chief Minister

4) Chief Guest

Correct Answer: 1) President

Candidate Answer: 1) President
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QID : 83 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

How many minutes' silence is maintained for the martyrs?
Options:

1) one

2) three

3) two

4) five

Correct Answer: 3) two

Candidate Answer: 3) two
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QID : 84 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

Which country has the distinction of being the guest of honour for the maximum number of times?
Options:

1) Bhutan

2) France

3) China

4) Pakistan

Correct Answer: 2) France

Candidate Answer: 2) France
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QID : 85 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

To mark the importance of the Republic Day, every year a grand parade is held in the capital, New
Delhi, from the Raisina Hill Rashtrapati Bhavan (the President's residence), along the Rajpath, past
India Gate. Prior to its commencement, the Prime Minister lays a floral wreath at the Amar Jawan
Jyoti, a memorial to fallen soldiers at the India Gate at one end of Rajpath, which is followed by two
minutes silence in the memory of fallen soldiers. It is a solemn reminder of the sacrifice of the
martyrs who died for the country in the freedom movement and the succeeding wars for the defence
of sovereignty of their country. There after he/she reaches the main dias at Rajpath to join other
dignitaries, subsequently the President arrives along with the chief guest of the occasion. They are
escorted on horseback by the President's Bodyguard.

First, the President unfurls the National flag, as the National Anthem is played, and a 21-gun salute is
given as the Presidential Body Guard (PBG) renders the National Salute. Next, important awards like
the Ashok Chakra and Kirti Chakra are given away by the President. This is followed by the regiments
of Armed Forces starting their march past. The President comes forward to award the medals of
bravery to the people from the armed forces for their exceptional courage in the field and also the
civilians, who have distinguished themselves by their different acts of valour in different situations.
Children who receive the National Bravery Award ride past the spectators on colourfully decorated
elephants or vehicles.

During 1950-1954, Republic Day celebrations were organised at different venues like Irwin Stadium
(National Stadium), Kingsway (Rajpath), Red Fort and Ramlila grounds. It was only starting 1955
when the parade in its present form was organised at Rajpath. The guest country is chosen after a
deliberation of strategic, economic and political interests. France has the distinction of being the
guest of honour for the maximum (five) number of times followed by four visits from Bhutan and
three visits each from Mauritius and USSR/Russia.

The Beating Retreat ceremony officially denotes the end of Republic Day festivities. It is conducted on
the evening of 29 January, the third day after the Republic Day. It is performed by the bands of the
three wings of the military, the Indian Army, Indian Navy and Indian Air Force. The venue is Raisina
Hills and an adjacent square, Vijay Chowk, flanked by the north and south block of the Rashtrapati
Bhavan (President's Palace) towards the end of Rajpath.

The Beating Retreat ceremony is held at which of these places?
Options:

1) Veer Nariman Chowk

2) Hutatma Chowk

3) Mahatma Gandhi Chowk

4) Vijay Chowk

Correct Answer: 4) Vijay Chowk

Candidate Answer: 4) Vijay Chowk
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QID : 86 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Snowy Evening
—- Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,

But | have promises to keep,

And miles to go before | sleep,

And miles to go before | sleep.

Who will not watch the poet stopping by the wood?
Options:

1) The owner of the woods

2) His wife

3) His horse

4) His friend

Correct Answer: 1) The owner of the woods

Candidate Answer: 3) His horse
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QID : 87 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Snowy Evening
—- Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,

But | have promises to keep,

And miles to go before | sleep,

And miles to go before | sleep.

Where does the owner of the woods live?
Options:

1) in the town

2) in the city

3) in the woods

4) in the village

Correct Answer: 4) in the village

Candidate Answer: 4) in the village
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QID : 88 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Snowy Evening
—- Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,

But | have promises to keep,

And miles to go before | sleep,

And miles to go before | sleep.

Which of these words does the poet not use to describe the woods?
Options:

1) lovely

2) dangerous

3) dark

4) deep

Correct Answer: 2) dangerous

Candidate Answer: 2) dangerous
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QID : 89 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Snowy Evening
—- Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,
But | have promises to keep,

And miles to go before | sleep,

And miles to go before | sleep.

Who is the poet's travel companion?
Options:

1) the owner of the woods

2) His wife

3) His horse

4) His friend

Correct Answer: 3) His horse

Candidate Answer: 3) His horse
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QID : 90 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Stopping By Woods On A Snowy Evening
—- Robert Frost

Whose woods these are | think | know.
His house is in the village, though;

He will not see me stopping here

To watch his woods fill up with snow.

My little horse must think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.

He gives his harness bells a shake
To ask if there is some mistake.
The only other sound's the sweep
Of easy wind and downy flake.

The woods are lovely, dark and deep,
But | have promises to keep,

And miles to go before | sleep,

And miles to go before | sleep.

What does the horse do to warn the poet?
Options:

1) shake his harness bells

2) neigh loudly

3) run into the woods

4) refuse to walk through the snow

Correct Answer: 1) shake his harness bells

Candidate Answer: 3) run into the woods

QID : 91 - Which of the following definition is given by Bertrand Russell?

I. Mathematics is the language in which God has written the universe

Il. Mathematics is defined as the subject in which we neither know what we are talking about nor
what we are saying true

RGO FIQ 6a6l AR T QIAGIE AEARE QIR FAIAIRE?

. GEic 62Q& 69k QA QI QIR QFIRIR QI A°AIQ @ 6RE[G
II. 6l8ie 62Q8 6AR AL, 6AIRLER 2I6F QIR FFYER @Y K18 & 2l § QI8 & 2lisr QIR @99 o1el O 218
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Options:

1) Only |

60w |

2) Only II

caem Il

3)Bothland I

Qa1 GBI

4) No option is correct
6xl6ld aaq O Q68

Correct Answer: 2) Only Il
6aew Il

Candidate Answer: 4) No option is correct
6R161d Qaq O g6e

QID : 92 - On the basis of the various definitions given by Locke, Galileo, Marshall H.Stone about
mathematics, what can we conclude about Mathematics?

AQ, SIARG, AIKIA 90 649 & QIR FAARRIQI AR gog ARIA @R 26 61816 VAR @'6l QIR AIRIQ @R
aRel?

Options:

1) Mathematics is the science of space and numbers
CIEIG 6208 R 9e° AGHIQ FRIQ

2) Mathematics is the science of calculations

680 6268 29Ie a FRIQ

3) Mathematics is the abstract form of science

08I0 6208 AfIe Q Lo IRIE Qd

4) All options are correct

a9 eaa Oe 2@

Correct Answer: 4) All options are correct
a9 eaa O 2@

Candidate Answer: 3) Mathematics is the abstract form of science
cl8ie 6208 AfIe Q 6Aoe ARILTR Qd

QID : 93 - In mathematics, To make a drill affective which of the following statements should not be
considered?

CEI06R B @ TR @AQI dinl @@ AIRITY F26 FAILIR AR AIR?
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Options:

1) Variety of problems will make the drill interesting

AFQY @ BRPEI O @ ARdeN, @

2) Drill exercises should be brief and distributed over a period of time
om Q4 gOe A°RY ¥e° ARIQUIR QEE 6291 CaRIR

3) The drill work should be progressively more easy

on QY gOR 97168 IRE 629 AARIQ

4) All options are correct

a9 eaa Oe 2@

Correct Answer: 3) The drill work should be progressively more easy
on QIdY oo @68 AR 6291 AARIR

Candidate Answer: 2) Drill exercises should be brief and distributed over a period of time
om Q4 gOe A°RY ¥e° FRIQUIR GEE 6291 FARIR

QID : 94 - All great educationist like Herbert, Pestolozzi etc. has accepted mathematics as a symbol
of )
I. Human development
Il. Wealth creation

. Poverty eradication

296, 60YERIRT AR AAY ARIR SRIRE 68Ieg ____ Q Q%60 OF geé @aag.
l. IRGe QQI6l

II. e qF
. e Qagme

Options:

1) land Il
Call

2) Il and Il
gl

3) Only II
caem Il

4) Only |
60w |

Correct Answer: 4) Only|
60w |

Candidate Answer: 4) Only |
60w |
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QID : 95 - Which of the following is an advantage of written work in Mathematics?

RORGE AIQ 6065 CIEI06A Mg FITY Q Y@ AR 26672
Options:

1) Written work in Mathematics can be time consuming

0Ei06a Mo @INY AVQERIN (REFLF) 62IRAIER

2) Through written work, Mathematics can be retained for a longer period of time
o 1Y QIR 6816 @ 2P AL AIR (160 QS AIR AR

3) Written work is a laborious task

Rge @I 9@ ARGHR QIe

4) Learners can benefit only from oral work in Mathematics

§iR12h 6ae 60llgR QIF1 QIR G180 68 ANRIR 62R AIRER

Correct Answer: 2) Through written work, Mathematics can be retained for a longer period of time
nge QI QoI 686 @ Y@ AFL, AR F16R a6l AIR AR

Candidate Answer: 1) Written work in Mathematics can be time consuming
6lEi06Q Mejo @INY 2QQERIN (FEFEF) 621RAIER

QID : 96 - Which of the following is/are correct objective(s) of assignments in Mathematics?
I. To solve mathematical problems

Il. To collect mathematical data

Il. To learn about the biography of a particular mathematician

IV. To formulate problems on a concept

QARG FIQ 6RAGE/ 6RAGER CIEIE6R 2ISINREFE Q AER6! 2l66/26g?
. GG QAIQYl Q AARIR @AQ

1. QIEIGS G2 A°gL KRR

1. 428 CEIoR & Q190 AUAER FIEQ!

IV. @R60q QJ6Q QeI G2IE @3R!

Options:

1) 1,11, 11l and IV
111, 11146 1V

2) 11, 1l and IV
I, 111 9Q° IV

3) 1,11 and Ill

1, 11g8° Il
4)1,1land IV

1, 1196° IV

Correct Answer: 4) |, Iland IV
[, 119Q° [V

Candidate Answer: 4) |, Il and IV
I, 11 9Q° [V
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QID : 97 - Which of the following structures is NOT a type of structure in Mathematics?
RORGE 2°00I FUQ 6966 F8ER Y@ A°QeRI Qw?
Options:

1) Algorithmic structures
2meellRee (algorithm) Qeal
2) Algebraic structures
QRGIEIe Qo

3) Order structures

2dI6Qdl QR

4) Topological structures
66IIRESIM (topological) Qe

Correct Answer: 1) Algorithmic structures
2IReaIARE (algorithm) Qe

Candidate Answer: 3) Order structures
2I6Qd Q|

QID : 98 - Mathematics curriculum in schools provide which of the following benefits?

g 68 GIEieQ A0 IREE FIQ @R gAUI 69RaIN?
Options:

1) Mathematics enhances rote learning

0186 F6ig @AQI gl QQIRAIN

2) Mathematics generates logical attitude

616 0@ A°6I6 F6RIQE 9F @6a

3) Mathematics provides insights into linguistic concepts
6186 QIBICe @R6AY Q 2Qg] &

4) Mathematics is a fictional subject

686 66lIGN RIRR® a

Correct Answer: 2) Mathematics generates logical attitude
616 0@ A°6I6 F6RIQE 9F @6a

Candidate Answer: 2) Mathematics generates logical attitude
6186 06 A°6l6 F6RIQA 9F @6Q

QID : 99 - Which of the following statements is NOT correct regarding Mathematical language?

CI5Ioe QNI AVNER QA E O 0682
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Options:

1) It is highly complex and inapt

QI QIR RTR 9e° 20”

2) Mathematical language is highly compact and focused
CIEIOR QA @Q6 I°QG IQ° 6RLE

3) It helps in developing scientific attitude among children
N2l IR FI6R 6GHID FERIQR QIB1IQ8 @RQI6R AIRIYY @6Q
4) It is well defined, useful and clear

2| Q00 QI96Q JARITE, J6AUIRR1Y, 1Q° AR

Correct Answer: 1) It is highly complex and inapt
2l QIR RTR 9e° 20Q

Candidate Answer: 1) Itis highly complex and inapt
QI QIR AT \9e° 208

QID : 100 - Which of the following values can be associated with Mathematics?
. Cultural values

IIl. Psychological values

1l. Social values

IV. Disciplinary values

Romge Aug 6aal MY /g0 680 486 #H6 @al AIRAIER?
| ArgoR qm

. CIede Fmy

. QIR ey

IV. g§PRI AR Ry

Options:

1)1, 1land Il
L@l

2) Both Il and IV
Qg 11 GBIV

3) Both land I
Qa1 Gl

4) 1,1, Nland IV
LILNGIV

Correct Answer: 4) |, Il,llland IV
LILINEGIv

Candidate Answer: 4) |, Il, 1l and IV
LILINGIV
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QID:101 -

. then what is the value of

2 P .
1+\J§ 'I—V'E'

X27?

.T
1-2

AGX =1- L +

'1+\"§

, SI6LEm X Q (JmY @607

Options:

1)9 - 5v2

2) 5 - 3v2

3)9-4v2

4)8 - 4v2

Correct Answer: 3) 9 - 4v2

Candidate Answer: 3) 9 — 4v2

QID:102-
If 55 % 5° = 52 =52 thenwhatis the value of
X7

A@ 5y5x 5 + 52 =52 glewen x Q FJRY 6R667

Options:

Correct Answer: 3) 4

Candidate Answer: 1) 6
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QID : 103 - Which of the following number when divided by 11, 6 and 15 leaves remainder 5 in each
case?

QAR FQ 11,6 98° 15 QIQI FAIRS PEM AQERER REEIT 5 ADEIN?
Options:

1) 325

2) 320

3) 330

4) 335

Correct Answer: 4) 335

Candidate Answer: 1) 325

QID : 104 - The length of a rectangle is 8 cm. If its diagonal is 10 cm, then what is the area (in cm?) of
the rectangle?

6615N PRERA ME] 8 cm. U@ QIR @4] 10 cm, Pl6P6M OPER Q 6ARTR (cm? 6Q) 6966?
Options:

1) 54

2) 48

3) 60

4) 36

Correct Answer: 2) 48

Candidate Answer: 2) 48

QID : 105 - The area of a square is 50 cm?. What is the length (in cm) of its diagonal?

6615 @6l @ 68 50 cm?. ¥RIA 8¢ Q RES! (cm 6]) 68667
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Options:

1) 10v2

2)12.5

3) 10

4) 8v2

Correct Answer: 3) 10

Candidate Answer: 4) 8v2

QID : 106 - The height and radius of a cylinder is 8 cm and 6 cm respectively. What is the cost (in Rs)
of painting the total surface area of the cylinder at the rate of Rs 14 per cm??

6615\ GMER Q AREI B YIAIS 2I96F 8 cm B 6 cm . g6 cm? @ Rs 14 84Ie6Q Q1Y 680TRG QEF 606
dIel 6960 &l S0 62Q?

Options:
1) 7392
2) 4224
3) 8448

4) 5544
Correct Answer: 1) 7392

Candidate Answer: [ NOT ANSWERED ]

QID: 107 - If a/3 = b/4 = ¢/7, then what is the value of [(2a + 2b + 3c)/c]?
Q3 a/3 =b/4 = c/7, 9l6@6m of [(2a + 2b + 3c)/c] Q MY 6060 6297
Options:

1)4

2)5

3)6

4)3
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Correct Answer: 2) 5

Candidate Answer: 1) 4

QID: 108 -

Whatis the value of

1 1 1) 1
— _ 1 17
[1+xJ[1+x+1 [1+x+2j[1+x+3j'

1% £ 3 1 1
T+— | 1+—— |1+ 1+ \lGlelﬂH
x) X +1 X+ 2 Xx+3)
E@EE”

Options:
Nx+4
2) 1/x

3)
-1
X+ 4

4) 1+ (4/x)
Correct Answer: 4) 1+ (4/x)

Candidate Answer: 4) 1+ (4/x)

QID : 109 - If (x + 2) is a factor of x3 — 2ax? + 16, then what is the value of a?
Q@ (x+2), x3 - 2ax? + 16 Q 9@ GERIR (TIREQ), GI626M a & FRY 6R66 62Q?
Options:

1)1

2)2

3)3
4)4
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Correct Answer: 1) 1

Candidate Answer: 1) 1

QID : 110 - If 3**2 — 7 = 236, then what is the value of x?

Q8 32 — 7 = 236, GI6Q6M X A FJMY 6@60 62Q7?

Options:

Correct Answer: 3) 3

Candidate Answer: 3) 3

QID:111-

What s the third proportionalto

a b
[—4~—’and a+b>?
b a)

[g + g] 8 Ja’ + b’ 9IR 9O14 2IgURe 69667
Options:

1) Ab

2) v(ab)

3) V(a/b)

4) ab/(a +b)

Correct Answer: 1) Ab
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Candidate Answer: 2) v(ab)

QID : 112 - The sum of two numbers is 40 and their difference is 4. What is the ratio of the number?
Q@@ aeell Qﬂ@ 40 9Q° 64l S Tw 4. 4°6il QQ@Q gQdIo 60667

Options:

1)11:5

2)5:9

3)11:9

4)7:15

Correct Answer: 3) 11:9

Candidate Answer: 3) 11:9

QID: 113 - A and B can do a piece of work in 12 days. B and C in 15 days and C and A in 24 days. If A,
B and C work together, then how many days will they take to complete the work?

A 8 B 6615\ @1F1g 12 B6Q @QAIRER. B G C 661157 QIFg 15 D6 e° C G A, 24 G06Q @QdIR6e. 90 A, B
3 C QI A2 QIFl @QF G626/ 6R60 BR6A 6AFIER RIFg JaI AE6Q?
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Options:

1)

23

2)

‘15E

23

3)

TUE

23

4)

1112

23

Correct Answer: 3)

1019

23

Candidate Answer: [ NOT ANSWERED ]

QID : 114 - A man purchased 7 bags of rice at the rate of Rs 600 each and 8 bags of rice at the rate of
Rs 800 each. What is the average cost (in Rs) of one bag of rice?

@66 Q4 J604e QIel @ Rs 600 B9IQ6Q 7 & @4I61 \9@° Rs 800 84Ie6Q 8 & Q4i6l @éiem. 66115~ QUIFa 2IQILIR
Ry 60667

Options:

1) 700

2) 806.56

3) 706.66

4) 750.66

Correct Answer: 3) 706.66

Candidate Answer: 3) 706.66
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QID : 115 - By selling a TV for Rs 1040 a man earn 4% profit. If he sells it for Rs 950, then what will be
the loss percentage?

661G~ Q(TV) @ Rs 1040 60 @& @661 @19 4% MIQ FRMI. A8 6a 9219 Rs 950 60 66 997, FI6R6M SIFQ
A6 % 6060 6297?

Options:
1)5

2)6
3)4.5
4)4

Correct Answer: 1) 5

Candidate Answer: 3) 4.5

QID : 116 - AABC is similar to APQR. If the ratio of the area of AABC and APQR is 16 : 25, then what is
the ratio of sides AB and PQ?

AABC, APQR Q@ Qflie. 98 AABC \9@° APQR Q 689C% Q 2QdIe 16:25 2\, 606Q QI AB B PQ @ agdie
60607

Options:
1)4:25
2)2:5
3)16:25
4)4:5

Correct Answer: 4) 4:5

Candidate Answer: 3) 16:25
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QID:117-
In the given figure, ABCD is a square of side 14
cm. Whatis the area (in cm?) of the shaded
region?

QAUKIRYR! 55 66 ABCD a6l Q190 918 14 cm .
AT 681G Q CRGTR (cM? 6Q) 6766 6897

D C
A B
Options:
1) 48
2) 56
3) 42
4) 36

Correct Answer: 3) 42

Candidate Answer: 2) 56
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QID:118-

In the given figure, PQ is parallelto BC. If PQ:
BC=2:3 and AB =30 cm, thenwhatis the
value (incm) of AP?

dEIiegel 65 60, PQ, BC 9z a¢1eq. <@ PQ : BC

=2:36AB =30 cm, Ql6wem AP 665 6497
A

Options:

1) 20

2) 12

3) 15

4)18

Correct Answer: 1) 20

Candidate Answer: 3) 15
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QID: 119-
In the given figure, O is the centre of the circle.
Whatis the value (in degrees)of L POQ?

QUKIRYR 05 62 O 6208 98 2 6@5. 10168 LPOQ
6R60 (Y91 6Q) 629 7?

Options:

1) 70

2) 110

3) 105

4) 140

Correct Answer: 4) 140

Candidate Answer: 2) 110

QID : 120 - The sides of a triangle are in the ratio 2 : 2 : 5. What is the value (in degrees) of the largest
angle?

661N GQR Q QIR GO QAQAIE 2: 2 : 5. GI6REM QRAF 6RIEl & 6@60 6297
Options:

1) 90

2)110

3) 120

4) 100
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Correct Answer: 4) 100

Candidate Answer: 4) 100

QID : 121 - Which of the following is emphasised in laboratory method?

JIVIGIR ARG6R A Q 6RLlE AT6Q FQE G2l 6RIRE?
Options:

1) Effort and Error

Jeeq 9e° gé‘

2) Learning by doing
IdY @Qe! Qo Siglel

3) To gain experience
RO RIQ @AQ!

4) All options are correct
aqg deg ade

Correct Answer: 4) All options are correct
aqg Yaq ade

Candidate Answer: 3) To gain experience
ARG RIQ @R

QID : 122 - What is the reason behind banning the dissection of animals?

dgQ 62 PTRRRQI AL6Q FIQE @612
Options:

1) Animals are no longer available for dissection

JI61 G626 IR 2IQ QARY QIRIY

2) They may spread new diseases

646160 Q2 6RUG T°RAE AR ARG

3) There is a need to sensitize students about prevention of cruelty to animals
dgwa 96 PYac! gosaid afaea SRIENAING 2°6eQr6R ARQI J6UeR Q88

4) Procuring animals has become an expensive proposition

Qg gL REQI fiel dgiQ 2R 02 62108

Correct Answer: 3) There is a need to sensitize students about prevention of cruelty to animals
g 9o @g@m Jo6aId AP16R RITIFING A°6RARENR @RQI J6URR QB8

Candidate Answer: 3) There is a need to sensitize students about prevention of cruelty to animals
Agea 9o @g@m Jo6aId API6R RITNFING A°6RARENR @RQI J6ARR QB8
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QID : 123 - Which of the following is not a characteristic of Integrated Approach in science teaching?
Rela 6a6lc AfIe SRl AFPE ANE 6TEIYY g6 ?
Options:

1) Integration of skills with contents
@@Q@g d@0 QARIA APETEIR

2) Multi - learning environment
Qe dteasl &al

3) Teacher - centred teaching

GiQe - 6RLe AI0YQIR

4) Child - centred teaching

&gl - 6R9@ AI0YRIR

Correct Answer: 3) Teacher - centred teaching
8N - 625@ AIoYQIR

Candidate Answer: 2) Multi - learning environment
Qge JR6d &al

QID : 124 - Which of the following statement is true about Disciplinary Approach?
GEPRl Q°Qlp N6 YR P 606 @IgY A6Y?
Options:

1) Teacher as a facilitator

e FIARGIcR ale6 Sige

2) Use of modern method in teaching science
SRIEQ AIOYRIRQ 6896Q 2P IRQ 4RI
3) Wide — conceptual knowledge

galq - Il \RIe

4) Content — based teaching

dageq e &xe

Correct Answer: 4) Content — based teaching
dageq e &xe

Candidate Answer: 1) Teacher as a facilitator
@ FIARCIcq 8aIe6q SiNe

QID : 125 - Which is the best method for developing understanding in science students?

GRIPQ VNN AJIEQ 6RRISFIPIQ Al AT ARE Q61672
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Options:

1) Help them in carrying out scientific experiments
6PRID AVA-HI @ARIER 6AFING ARING! QY

2) Keeping them away from experiments

Ol AINI-RAIRI 0IQ QAR QEe!

3) Keeping them busy in social activities

oIF AIFRR6R PITRRIAER @YY QYS!

4) Keeping them away from social activities

0IF AFIRS FIJARIA 0IQ QAR Qg

Correct Answer: 1) Help them in carrying out scientific experiments
6IRIR AVA-HAIN @TAIER 62FING ARIAR! @AY

Candidate Answer: 1) Help them in carrying out scientific experiments
6TRIDD AVA-HAI @TRIER 62FING ARIAR! @Y

QID : 126 - It is important to organise local town/state level scientific activities because
dir10 926 / QIYIA aa 6§HING @URRIAgRe a606 @l e dIes
Options:

1) it entertains teachers

Q| SN 60100 Q6Q

2) it gives financial support to organisers

QI 26Aeeq 2ige RINE! B

3) it helps in discovering the scientific talent amongst the children
@I figwa FrIEA 6TRIPR 4O 2IAYQ fRRI6R NG| K61

4) students can use their time

ARIENAI6R GIFQ AR MELQ @A AR

Correct Answer: 3) it helps in discovering the scientific talent amongst the children
@l figwa FIEA 6QRIR O 2IAYQ fRRI6Q ATE! F6Q

Candidate Answer: 3) it helps in discovering the scientific talent amongst the children
@l figwa FIER 6QRIPR O 2IAYQ fRRI6Q ATG! F6Q

QID : 127 - Which of the following helps in better understanding of science?

RCQ 62616 ARIEQ 2P ANER QTN AIR ARG F6Q?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Options:

1) Learning by doing

Y @Q SgQl

2) By observation

adeemél glal

3) Both learning by doing and by observation
Qed QY @8 8igel 9e° Adeeas QIal Sigal

4) No option is correct

6al6ld e A0 Q6w

Correct Answer: 3) Both learning by doing and by observation
Qa9 QY @8 Eigel 9e° Adeeasl IRl Sigal

Candidate Answer: 3) Both learning by doing and by observation
Qed QY @8 Eigel 9e° Adeeas QIal Sigal

QID : 128 - Which of the following is the basis of science?
R0 6066 AHIEQ Qae?
Options:

1) Factual knowledge
QY &R

2) Theoretical Knowledge
olge RIQ

3) Myths

Ueagia

4) All options are correct
aeg daq a0

Correct Answer: 1) Factual knowledge
QY RIQ

Candidate Answer: 2) Theoretical Knowledge
olge |Ie

QID : 129 - Taxonomy of Cognitive Objectives in Science is given by

ARIEQ RN, Q6RENGERR 6¢611@RNI gleu G2l @u|
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Options:

1) B.S. Bloom

9.4Q. 97

2) Richard Freed

Q01e e

3) Lawrence Kohlberg
REQQ 6RIRRAIG

4) No option is correct
6al6ld e A0 Q6w

Correct Answer: 1) B.S. Bloom
Q.4a. Q¢

Candidate Answer: 1) B.S. Bloom
Q.99. 7

QID : 130 - Which of the following statements does not show the characteristic features of “aims” in
teaching science?

QFQ 696ic Q0 ARIAQ AIOIPIR Q "RAY FOR" Q 6FEYILE] 6ASIN QI ?
Options:

1) Aims are broad and general

A4 6208 AgE 1e° ARIRE

2) Aims need long term planning and some serious efforts on the part of the teacher
QY FiNRQ AN6R gJQl @1(5@@ G@@@QI 9Q° @] g deoqia JeLleRl 62162/l Qs
3) There is no significance of Aims in teaching of science

ARINQ AIOYAIR Q 6AQER MAYA 6aIE1d PIQ QI

4) No option is correct

6al6ld e A0 6w

Correct Answer: 3) There is no significance of Aims in teaching of science
ARIEQ AI0YAIR A 68960 AAYQ 60161 I QIE

Candidate Answer: 2) Aims need long term planning and some serious efforts on the part of the
teacher
AR SN ARI6R g1 Q1IN ARRRR! 16° AR gQoa J6eYIa JetIRr! 621R2e! ZIQse

QID : 131 - Which nutrient is required in splitting of water to liberate oxygen during photosynthesis?

BIERIRA6GRE (TE61T62Q14 )Q AFAER CIFIR FAURRRE 2F6a (g FRR! 676! 6AIAIR Q AQRIR 2N ?
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Options:

1) Magnesium
cHieg @2

2) Manganese
AP

3) Zinc

2=

4) Boron
61

Correct Answer: 2) Manganese
2

Candidate Answer: 1) Magnesium
culeg|dein

QID : 132 - Dialysis machines are based on which of the following principles?
QIORIREA 6r8IngER BCQ 6a@ A108 QIR VA @6a?
Options:

1) Osmosis
2IgQaI(2Q613Q)

2) Conduction
JRQRR(R69R)

3) Capillary Action

6@8Ie @A(@ITRIA 21gR )
4) Temperature Difference
QNG AIgieY

Correct Answer: 1) Osmosis
2IgQé8I(2Q6A1dq)

Candidate Answer: 1) Osmosis
2IgQé8I(2Q6A1dq)

QID : 133 - Which phenomenon is observed when a beam of sunlight passes through a colloid
solution?

gd @Q8 IQ 6RI6AING 98l IR B2l GI6M 606l ACEIT 6Q6! QIN?
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Options:

1) Tyndall effect

Gaim gaue

2) Diffraction of Sunlight
gdieniaq 8gge!

3) Dispersion of Sunlight
gda glemie Q AR6RAE!
4) Refraction of Sunlight
gda dieniaq 9o

Correct Answer: 1) Tyndall effect
GEIm ARUQ

Candidate Answer: 2) Diffraction of Sunlight
gdieniaq 890!

QID : 134 - Which of the following elements is bivalent that is, it has valency 3 and 5 both?

Yo

QOREE QUIRIRGPRA FIER 6RGE JHE(QIRAIIERY), YRR QIIEM°AT 3 9Q° 5 QQL?
Options:

1) Sulphur
AmT

2) Chlorine
63150

3) Phosphorous
3133 1%l

4) Carbon
Qe

Correct Answer: 3) Phosphorous
FITd

Candidate Answer: 1) Sulphur
M

QID : 135 - Which of the following substance is an insulator?

R0 606 AQIIE Y@ @UAQIee?
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Options:

1) Graphite
QITIRe

2) Manganin
ClGPIE

3) Nichrome
Peglel

4) Diamond
@1l

Correct Answer: 4) Diamond
@1l

Candidate Answer: 1) Graphite
QITIRE

QID : 136 - Which of the following organisms belong to the phylum echinodermata?
R0Q 6066 Q10 ARERIGIFHG! TIREMA?
Options:

1) Sea cucumber
aige Ige

2) Spider

QQ2I&N

3) Earthworm
@l

4) Lion fish
AT(RIRIR FIR)

Correct Answer: 1) Sea cucumber
qaIoe QIgo

Candidate Answer: 1) Sea cucumber
qoe QIgo

QID : 137 - A person suffering from a refractive error of vision is recommended to use a concave lens
by the doctor to correct his vision. Identify the defect.

QY aresle 9F6R 6AIGRT YAk Q1F] 01 QY °6EIke AAQI diEl PIRAR QIR 2QER 6AY QILLIR AR
daueisl Q2 AN 9ETY 90 @ag |

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Options:

1) Hypermetropia
2aQsredall

2) Presbyopia
60Q9&@Eg2I

3) Hypometropia
gedlerIgadel

4) Myopia
QEm161o!

Correct Answer: 1) Hypermetropia
Qaasrcdal

Candidate Answer: 1) Hypermetropia
Qaaeredzll

QID : 138 - Which nutrient is required by thyroid gland to make thyroxine hormone?
2IRQGR 2Q6AIR R @9 2IRAIENS 9F QIR 66616 YT J6IaR?
Options:

1) Iron

pal

2) Calcium
Rll=alalle
3) lodine
2GR

4) Chlorine
69160

Correct Answer: 3) lodine
2RENR

Candidate Answer: 3) lodine
2GR

QID : 139 - Which of the following elements is used as a catalyst in hydrogenation of vegetable oils?

QUG 60RYPRA LIRERIEREREIER RFRGEFERR (R REIT 2QAce BAIR6Q @196 @1?
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Options:

1) Sodium
Sa[prle]

2) Cobalt
6@l

3) Iron
pal

4) Nickel
feem

Correct Answer: 4) Nickel
Peam

Candidate Answer: 1) Sodium
Salletle

QID : 140 - The reaction between Carboxylic acid and alcohol results into the formation of

RIEAIEQRR 2ITe 1e° UERIERILAA FIEQ IO ______ 610968 FRITR|
Options:

1) Aldehyde
2I6RRAR
2) Ester
gQ

3) Ketone
Pecie

4) Halogen
iemie@s

Correct Answer: 2) Ester
NdQ

Candidate Answer: 1) Aldehyde
2l6RAIRG

QID : 141 - In which muscular and skeletal disorder, inflation of joints occur due to accumulation of
Uric acid crystals?

606l APEIETST Ie° AFIRQ 41, AAAR 2HITE GF@ GFll 62918 FIREQ FEARIERR GRR ATeIN ?
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Options:

1) Tetany

66610

2) Muscular Dystrophy
606199R 62Iadg J8Q 2UQ
3) Osteoporosis
alEisallEalala

4) Gout

66lle

Correct Answer: 4) Gout
66llc"

Candidate Answer: 2) Muscular Dystrophy
606199R 62Iagy J8Q 29

QID : 142 - Refractive Index of a glass is least for light.

9@ QI9Q ATIRR AR6eq _ AIERIAR el @¢1 621R2IN |
Options:

1) Red
mim

2) Violet
QIRGIEN
3) Blue
e

4) Green
aQe

Correct Answer: 1) Red
mim

Candidate Answer: 2) Violet
QUIRGIEN

QID : 143 - Carbohydrates, proteins and fats metabolism are regulated by which hormone in human
body?

RIEAIQINGET, 6IGR IQ° IS 6FIGIERIMET FIRQ 6926] 6RE 26N Il RUFS §9?
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Options:

1) Insulin

QQne

2) Thyroxine
IREAIFR

3) Estrogen
REQYERR

4) Adrenaline
Q90a(26RRRIAN )

Correct Answer: 2) Thyroxine
IREAIFR

Candidate Answer: 4) Adrenaline
Qg0a(26RARING )

QID : 144 - Which of the following is a mechanical contraceptive method to avoid pregnancy?
QRGO 6066 1@ AIFR CeRsae 086?
Options:

1) Abortion

ekl

2) Contraceptive Pills
ceiReaIe GlQe

3) Copper-T

@d-T

4) No option is correct
6aleld Faq a0 ged

Correct Answer: 3) Copper-T
@d-T

Candidate Answer: 1) Abortion
gIQQIe

QID : 145 - The pH of 0.1TM KOH is .

0.IMKOHYQ pH 6208 |
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Options:

Correct Answer: 4) 13

Candidate Answer: 3) 10

QID : 146 - Initial velocity of an object in a free fall is m/s.

Q@ 9 QI6e Jgael @9 JI2ifie 696 6208 a/e6ql
Options:

1) 0.1
2)1
3)0
4)9.8

Correct Answer: 3) 0

Candidate Answer: 4) 9.8

QID : 147 - Which organelle of a cell other than nucleus contains DNA?

RARAUL Q1910 601FQ 6RL CIEREM SR 2IN?
Options:

1) Vacuole

6021006Q QI @ AAQE FA(QIPIGR)
2) Lysosomes

mi|Y64Iees]

3) Mitochondria

AIRESINREL,

4) Golgi apparatus

cImG AQQIE

Correct Answer: 3) Mitochondria
AIRELINAEL,
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Candidate Answer: 3) Mitochondria
AIRELIRREL,

QID : 148 - Which of the following acid can be found in an ant’s sting?
Jefea gg) 6a Ae 6@6! 2156 A aig?
Options:

1) Methanoic Acid
6clellerfe 21de

2) Citric Acid
diage 218Q

3) Tartaric Acid
SIGIeR 218

4) Oxalic Acid
QNG 21qQ

Correct Answer: 1) Methanoic Acid
6cleleRIng 218Q

Candidate Answer: 4) Oxalic Acid
dgine AQQ

QID : 149 - Which law states that at constant temperature, the pressure of a fixed amount of gas
varies inversely with its volume?

606 PACE REN 64 a SIAFIQ!, 9@ @fﬁq QN8 GMIZER 1T BIQ ARAFER AIEPER AN AAQTE g2
Options:

1) Charles’s Law

oInaQ ROe

2) Boyle's Law

QEAMA P

3) Stefan Boltzmann Law
oo 6QIRRIe B

4) Newton’s Law
alalnalafalale

Correct Answer: 2) Boyle's Law
QELMA P

Candidate Answer: 2) Boyle's Law
Q6LMA PN
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QID : 150 - IUPAC name of first member of homologous series of Aldehydes is

2INGLINCEAR 6216Fl6MINA JARQ 92F AeQYQ IUPAC QI |
Options:

1) Ethanal
2lRIm

2) Benzaldehyde
6QRRI6RYING

3) Propanal
J6anIm

4) Methanal
6¢12lIRIm

Correct Answer: 4) Methanal
6c18lRIm

Candidate Answer: 1) Ethanal
2RIm
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